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* Integer Test Review  Name:
Simplify. |
-15+ 8 -32+-15, |18 - (-40)
9 - 20 i3 + (-10) 17-9
30+ 2b-7b - 2 6c-5d+7c-10d  |-8(3b-8c)

Solve the following word problems.

John won $5 and he did it-3 times in a row.
Draw a number line to show how much money

' John has now. What equation did you use to
.| solve this? :

Steve walked backwards 7 feeT then forward
8 feet. What integer is he now at? ‘What-
equation did you use to solve this?

is now at. What equation did you use to solve
this? ' '

Susan lost $3 each day for 4 straight days.
Draw a humber line to represent where Susan |

The stock market fell 25 points on Monday
and rose 2 poinis on each of the next 5 days.
What is the current stock value? '

Find the average of 'i‘he following numbers: -
5,-8,-2

If you fall 100 feet in 4 seconds, how many
feet did you fall in 1 second? .

A friangle has 3 equal sides. One side is (5a -

2b) feet long. What is the per'ume'i'er' of the

triangle?
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